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8 clocks

PLCclk
COMclk
NETclk
RIOclk
ENVclk

tt
yy
zz

3 parameters

PLCct
COMct
SIGmrt

Initial

PLCct > 0 
 & COMct > 0 
 & SIGmrt > 0 

 & PLCclk >= 0 
 & COMclk >= 0 
 & NETclk >= 0 
 & RIOclk >= 0 
 & ENVclk >= 0 

 & tt = 0 
 & yy = 0 
 & zz = 0

PLC

PLCinit True

PLC1 PLCct >= PLCclk

PLCbeg
  PLCclk := 0;

COMin0

PLC3 PLCct >= PLCclk

 PLCclk >= 100
PLCout0

 PLCct = PLCclk
  PLCclk := 0;

COMin0

PLC6 PLCct >= PLCclk

COMin1

COMin1

PLC7 PLCct >= PLCclk

 PLCct = PLCclk
  PLCclk := 0;

PLC4 PLCct >= PLCclk COMin1

PLC5 0 >= yy

 PLCclk >= 100
  yy := 0;

 yy = 0
PLCout0

COMin1

COMin1

PLC9 PLCct >= PLCclk

 PLCclk >= 100
PLCout1

 PLCct = PLCclk
  PLCclk := 0;

COMin1

COM

COMinit True

COM1 True

PLCbeg

PLCout0

COM2 25 >= COMclk

  COMclk := 0;

PLCout0

COM3 COMct >= COMclk

 COMclk = 25
CNreq0

PLCout0

COM4 tt = 0

NCrep0
  tt := 0;

COM5 tt = 0

NCrep1
  tt := 0;

COM6 COMct >= COMclk

 tt = 0
COMin0

 tt = 0
COMin1

 COMct = COMclk
  COMclk := 0;

PLCout0

COM11 COMct >= COMclk

PLCout1

PLCout1

COM12 25 >= COMclk

 COMct = COMclk
  COMclk := 0;

COM7 25 >= COMclk PLCout1

COM8 COMct >= COMclk

 COMclk = 25
CNreq0

PLCout1

COM9 tt = 0

NCrep0
  tt := 0;

COM10 tt = 0

NCrep1
  tt := 0;

 tt = 0
COMin0

 tt = 0
COMin1

PLCout1

COM13 COMct >= COMclk

 COMclk = 25
CNreq1

PLCout1

COM14 tt = 0

NCrep1
  tt := 0;

COM15 COMct >= COMclk

 tt = 0
COMin1

 COMct = COMclk
  COMclk := 0;

PLCout1

NET

NET1 True

NET2 10 >= NETclk

CNreq0
  NETclk := 0;

NET5 10 >= NETclk

CNreq1
  NETclk := 0;

NET3 True

 NETclk = 10
NRreq0

NET6 True

 NETclk = 10
NRreq1

NET4 10 >= NETclk

RNrep0
  NETclk := 0;

NET7 10 >= NETclk

RNrep1
  NETclk := 0;

 NETclk = 10
NCrep0

 NETclk = 10
NCrep1

RNrep1
  NETclk := 0;

RIO

RIO1 True

RIO2 70 >= RIOclk

NRreq0
  RIOclk := 0;

RIO3 zz = 0

 RIOclk = 70
SIGout0
  zz := 0;

RIO4 70 >= RIOclk

SIGin1

 zz = 0
RNrep0

RIO5 zz = 0

 RIOclk = 70
SIGout0
  zz := 0;

RIO6 True

 zz = 0
RNrep0

RIO7 70 >= RIOclk

NRreq0
  RIOclk := 0;

RIO9 70 >= RIOclk

NRreq1
  RIOclk := 0;

RIO8 zz = 0

 RIOclk = 70
SIGout0
  zz := 0;

RIO10 zz = 0

 RIOclk = 70
SIGout1
  zz := 0;

 zz = 0
RNrep1

 zz = 0
RNrep1

ENV

ENVinit True

ENV1 True

SIGout0

SIGout0

ENV2 SIGmrt >= ENVclk

SIGin1
  ENVclk := 0;

SIGout0

ENV4 yy = 0

SIGout1
  yy := 0;

ENV5 yy = 0

 SIGmrt = ENVclk
  yy := 0;


